


а)  53

основание:

показатель:

как вычислить:

5

3

5 · 5 · 5



б)  82

основание:

показатель:

как вычислить:

8

2

8 · 8



в)  168

основание:

показатель:

как вычислить:

16

8

16 · 16 · 16 · 16 · 16 · 16 · 16 · 16



г)  17

основание:

показатель:

как вычислить:

1

7

1 · 1 · 1 · 1 · 1 · 1 · 1



а)  53      5 · 3

5 · 5 · 5 =53 =

5 · 3 =

125

15

>



б)  82      8 · 2

8 · 8  =82 =

8 · 2 =

64

16

>



в)  45      4 · 5

4 · 4 · 4 · 4 · 4 =45 =

4 · 5 =

1024

20

>



г)  17         1 · 7

1 · 1 · 1 · 1 · 1 · 1 · 1 =17 =

1 · 7 =

1

7

<



а)  142 =

б)  272 =

в)  252 =

г)  362 =

14 · 14  = 196

27 · 27  = 729

25 · 25  = 625

36 · 36  = 1296



а)  2,53 =

б)  0,84 =

в)  3,12 =

г)  0,25 = 0,2 · 0,2 · 0,2 · 0,2 · 0,2 =

0,8 · 0,8 · 0,8 · 0,8 =

2,5 · 2,5 · 2,5 = 15625,

 =        4096,0

3,1 · 3,1 = 961,

=              32000,0



2,51 м

0,602 м

 P = (2,51 + 0,602) · 2 = 6,224 м

 S = 2,51 · 0,602 = 1,51102 м2



*

К л а с с н а я    р а б о т а.

*

К л а с с н а я    р а б о т а.



а)  а2 + b2 = 1,42 + 0,72 = 1,4 · 1,4 + 0,7 · 0,7 =

= 1,96 + 0,49 = 2,45

б)  (а + b)2 = (1,4 + 0,7)2 = 2,12 = 2,1 · 2,1 = 4,41

в)  а2 + 2аb + b2 = 1,42 + 2·1,4·0,7 + 0,72 =

= 1,96 + 1,96 + 0,49 = 4,41

г)  а2 – 2аb + b2 = 1,42 – 2·1,4·0,7 + 0,72 =

= 1,96 – 1,96 + 0,49 = 0,49 

(а + b)2 = а2 + 2аb + b2



Учебник:  

                     № 776; 777; 782 



Степень числа



Укажите для выраженияI

ВАРИАНТ 1 ВАРИАНТ 2

35 43

 основание степени1  основание степени1

 показатель степени2  показатель степени2

 как вычислить 
значение этого 
выражения

3  как вычислить 
значение этого 
выражения

3



Вычислите:II

ВАРИАНТ 1 ВАРИАНТ 2

24 =1

33 =2

122 =3

0,52 =4

23 =1

32 =2

132 =3

0,42 =4



Укажите для выраженияI

ВАРИАНТ 1 ВАРИАНТ 2

35

3

5

3 · 3 · 3 · 3 · 3 

43

4

3

4 · 4 · 4

 основание степени1  основание степени1

 показатель степени2  показатель степени2

 как вычислить 
значение этого 
выражения

3  как вычислить 
значение этого 
выражения

3



Вычислите:II

ВАРИАНТ 1 ВАРИАНТ 2

0,25

144

27

16

0,16

169

9

824 =1

33 =2

122 =3

0,52 =4

23 =1

32 =2

132 =3

0,42 =4


